% é @ a f Kerro desimaalit kymmenelld negatiivisella
potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
9378,4 % 0.0001 = 4615,5x0.1 =
7228,5x0.01 = 2112,8 % 0.001 =
8062,3 x 0.001 = 8870 x 0.001 =
6222 x 0.1 = 3786,6 % 0.001 =
2725,3 x0.0001 = 4308, 3 x 0.0001 =
8978,7 % 0.0001 = 7176,1x0.01 =
2669,1 x0.01 = 3950, 1 x 0.001 =
5968,9 x 0.001 = 7870,7 x 0.0001 =
4758,3 x 0.001 = 1528,9 % 0.01 =
7668,9 x 0.001 = 4065, 2 x 0.001 =
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% é @ a ? Kerro desimaalit kymmenelld negatiivisella
potenssilla

Nimi: Piivimadrd: __ Pisteet: ____
9378,4 x 0.0001 = 0.93784 4615,5 % 0.1 =461.55
7228,5x0.01 = 72.285 2112,8 x 0.001 =2.1128
8062, 3 x 0.001 = 8.0623 8870 x 0.001 = 8.87
6222 x 0.1 = 622.2 3786,6 x 0.001 = 3.7866
2725,3 x0.0001 = 0.27253 4308, 3 x 0.0001 = 0.43083
8978,7 % 0.0001 = 0.89787 7176,1 x0.01 =71.761
2669,1 x 0.01 = 26.691 3950, 1 x 0.001 = 3.9501
5968, 9 x 0.001 = 5.9689 7870,7 % 0.0001 = 0.78707
4758,3 x 0.001 =4.7583 1528,9 x 0.01 = 15.289
7668,9 x 0.001 = 7.6689 4065, 2 x 0.001 = 4.0652
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